WORKSHEET - 1 HYJ& HIYPH™=T (Integers) ™I Aa<it

1. 8 -7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8

(@) —493 6 & AftrdT JUT I TIATE | Represent — 4 and 6 on number line.
(b)  3MF -7 & AfYHT IUT I EIAS | Represent 3 and —7 on number line.

2. Y&t 78S 391 Fill in the blanks.
fafenm (Activity)
@ ®)+(4)= (-5)+8

(b)  7+(10)= | |
(©)  36+(=52)—(-36) = @@@@@ + o+ 4
)  3)+7-(19)= s

/

3. JSHIBUITIT| Findthe product. 4.  Frarad) Divide.

. @)  SH)x15=_ (@ (30)+10=
® 7D x(18)= ()  (=36)+(-9) =
©  Hx(=3)x(-2)= ©  50+(-5)=
5. n?éﬁa*suaﬁyaxﬁrfuw@zjﬁ&mrn@%?n@fe%r AUES Ao s T3 T

When two negative integers are added we geta integer.
6. Stvnyawﬁfuwusra%mﬂ?(— 1) 7% IrEaes fieg )
Determine the integer whose product with (— 1) is zero.
7. L) — . o o . SN —
U fed faabnt fugs Afumret (a,0) e Az fog 3t fy g2

) =-3 J| feg 39 T
(6,-2) Ifa@fx 6+ (-2) = (- TR

3) 1/ Write five pairs of integers (a,b) such that @+ p = —

one such pair is (6,—2) because 6+ (—2) = =3).
)

—_—

(i) _ vy (v)

'j—3) x 0= (c) (-75)+ =—1

(¢)
5 —4 ' L-lo

0 3 - 3

{
L S]
~
\P\
4
\'r\. S——
l'.)
b
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10. Wt greTd @ S d91 Choose the correct baloon.
(a) -7+3 (b) (=7)x(-6) (c) 30 +(-3)

11. U\ e foeswa fuas ffiret (a,b) Sa3 58 I X a—bh=8 71 fer 3gt e fe'g
HIT (-5,-13) T faffa (—5)—(~13) =8 J1/ Write five pairs of negative integers (a,b)
such that a—b=38. One such pairis (—5,—-13) because (-5)—(—-13)=8.

D G__ G (v W)

12. 10 YNa' =8 fEq Mg ene f9, 9 st §°99 & 4 i o' 718 oo w3 a8 g g9 @
(—2) " €3 A7E I8 | IOyl AT Yis 78 a9t 7, ©F OFe (a8 Wi 9aedr dag One
() e6dldE (i) 3d@de (i) 13l

In a class test containing 10 questions, 4 marks are given for every correct answer and (— 2)

marks are given for every incorrect answer. Gurpreet attempt all qtiestions. What will be her

score if :

s are correct (ii) 3 of her answers are correct (iii) 1 of her answer is correct

- ==

J¥, IEEEH U3Tq9 / Using suitable formula find the product.

TIT Y BT (&G TIT T B v+(y-+2) #(v+1) +H(+2) O HOE USTRT

alues of x, y and z, check whether the relation XE(PH2) # (V) (D)

b)x=16,y=4,z=2.2
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WORKSHEET - 2 fdst »3 emiz= ™I H?%T

(Fractions And Decimals)

feg'ga »igATa f9aT € H=e® UST A9 1/ Find sum according to given pictures,

BB P -

2.3 _ 2 8

—_— =
8 8 20 20 ————

fest T d=ew ugT 53 /Find the sum of fractions.

: 1 2 y 1 1 /
W S+ (i) S+3= |
Gy 3+ ™ T+
111 [Pl e I\Y T =
e 410 ot feat
S oS =sssusr S| /Find the sum following fractions.
Sk R | o ted 2
REAE AR ST
fHes faat or H3eS UIT 3| Find the sum of following mixed fractions,
1 1 ‘ 5 3
1) 4-+6—= i) 2—+5==
() 45+ 6+ (i) 275+5%

fesanigra féatar IITH8B U™ Jd | /Find the product of fractions according to diagram.

B A

.2
D 4

the product of given fractions.

E2 o3 o | 1
— —_—= —_X —_—=
5 2 - W) *3= -
S U™ dd |/ Find Product,
l
(iii) —2—x9= (iv) —x8=
TWS-02
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8. fgst ergare®s U3t dd 1/ Find division of Fractions
4. 2 2 L1 2
(1) (n) (111) 2 3"
9. f)-mfasf'aw TTIERB UITId |/ Fmd dwnsnon of following mixed fractions
3 1 | 2
i) 4=+4-= ii)3—=+4—=
M #5757 . 753
10. y&tgret gd 1/ Fillin the blanks.
(100) (10) (1) (1/10) | (1/100) | (1/1000)
3 7 2 1 3 2 372.132
e et 0 --- -—- 0 570.320
7 5 1 9 3 7 _

11. fenfszgufe= fad1/Write in expanded form

SEIOCLE 253.417=2x100+5x10+3x1+4x(%)+1x(ﬁ)+7x(L)

100
(i)  2941=
(1) 35.67=
(i)  230.321=
12. CENSS AfyT=t TT IEEes UST 1/ Find the product of decimal numbers
(i) 0.03x0.9=

(i) 02x0.3=
13. Y& U3Tdd|/Find the value:

() 765.4%10= (ii) 765.4 x 1000 =
14. Y& AE& 991 /Fill in the blanks.

(iii)) 1.2x2.5=

(iii) 0.01x1000=

1
he work in one hour. How muh work she will complete in 25 hours

TWS-02
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WORKSHEET - 3 wafapit € YHUS NI AS<

51

10.

(Data Handling)
WNS FF F TUMI AT T W HE @ riafant & et 1(gr9d / f*9ad)
Averagelies__the biggest and smallest number of the data (outside/between)

HOHTG = _ Mean =
4e SRt Number of observations

RS 3 TITYYT- AT T 8T JuT - Highest Obscrvation -Lowest Observation=___
ufa@tt I Uas Aftr=t @7 HaW'™s U™ a31/ Find mean of first five whole numbers.

I5:
Ufgstt 3% i nig™ Afem™et @ WaH™s ST &3 |/ Find the mean of first three odd prime
numbers. I5:

fE2 R yer e ftanpu fRoRg I Tueomge % Yue fea Ao &r
FIGET T/ Out of gives observations the number which occurs maximum called
Afvmret2,2,2,3,3,4,5,5,5,5,6,6,8 € 9g8 U3TJ4J|

Find the mode of the numbers: 2,2,2,3,3,4,5,5,5,5,6,6,8

v

J&:

feg sz Ts e Gust e Jer i

After arranging the data in ascending or descending order the middle term is called
Hars' 57d feast fea fagar gas A T1 (v &F X)

Which of the following statement is true about mean (¢ or X)

(i) fea fe'3 T8 Qyet & © garag g Ut fE9 23e7 11t divides the data in two equal groups.( )

(ii) fe'3 Ag Ay e ySifsu ager J1 /1t represents the whole group,( )
(iii) A9 Yyt e Az Jur J| /Itis sum of all observations ( )

‘g95a’ 879 fegst f@9 fauar aus Adt a7 / Which of the following statement is true about
'Mode' :- (i) feg fegaasT v'a& Jev 31/ It is the middle term(__ )

(ii) feg AHT feg g 3 T @ M 8@ev T1/ It oceurs maximum times
(iiif) feT feuaad & Quat & "Rg S8 31/ 1t is the

inthe group ()
average of two middle terms ()
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11. IOWWE"T@ETET(ﬁm.fELG)

under, 143,131,150,139,128,136,151,146,141,144

() Suiss wa feam i f&at 3 7 Wha istherange of thedata(_ )
(11) l‘eiéwaélWe’rﬁuwa@_we‘lfﬁz’r%?

What is the average height of the students?

12. feust {5 faaar awa et 3 2 Which of the following is true?
(i) ufgs 5 wiggy ffrert TTHUNTS %3 g gamea 3t I
Mean and median of first five natural number are same. ( )
(i) ufosht 5 yiggawd ufgebn 5 U35 Fftmiret e oS gareg Jer 3
Mean of first five natural number and first S whole numbers are same. (
(iii) ufg&mt s Lgﬁazgaﬂfuwwwm 5deT 1 Mode o first 5 natural numbes is5.(__ )
13. foHE wesret & Tnge &t feest uzras / Find the probability of following events
(i) fe%ﬁgf&?uwg%eémﬁfuwm@aéﬁawaﬁéaﬁ ?
What is the probability of getting a prime number in throwing a dice. )
(i) 15 BB o fgeht et 5 fo'emit diet & miGe ot AgmesT 4t 52T 7
What is the probability of getting a white ball out of 15 red and 9 white balls. ( )
(i) fea e Geme 3 feanbe @ fgesr st 5397 2 |
What is the probability of getting a head in a toss of coin. ( ) -

14. fors eanmet 79993 At T wew st FE'S & 99 1Fill in the blanks in following frequency
table.

)

gIgggr
1 1 n
1l D 2| HH I (]
2 ? 3 I3
3 | D : i IIPII [?
’ T s | ]

15. fous eanme wafawt or g3 99w fus)

Draw a bar graph of the following data.

(i)
g | 5@ | 6& |78 | ket |0 |10
a1 10511201 95 11001 90 | K0
Ffunr

TWS-03
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' WORKSHEET - 4 A9 AHIAEs
’ (Simple Equations) ‘
1. Jot foxyt mitaast & T& &1/ Solve the following equations. i
(1) x+5=9 (i) x-5=9 (iii) x+5=-9 (iv) x-5=-9 J
| f
(V) —x+5=9 (Vi) —x—-5=—-9 (vii) 3/ = 42 (viii) 4x =20

(ix) 10p =100 (x) 3s=-12 (xi) 3x=0 (xii) 20¢ =10

|

25 (xvi) 3m+4=25

.5 3 2
(x1ii) -Z—x =10 (xiv) E.x =— (xv) Ep :5

(xvii) 4p-2=18 (xviii) 3n+7=25 (xix) —2(x+3)=8 | (xx) 16 =4+3(t+2) \

(xxi) 2y+-§=§21 (xxii) '7m+-]22= 13 | (xxii) 55'-+3: 2 (xxiv) %?—5:3

2. Jetfegear & mitaget f&w fgd | Write equation of following statement.

(i) x¥©3 greT g 11 T HF 32 J1The sum of 3 times x and 11 is 32

Gi) A g6 T I 3 T WFTETEIIET, 30 T1 The difference of 6 times hand 3 is 30, -

¢
[

(i) m o feqgaet 73 39U d10ne fourth of m exceeds 7 by 3

(iv) x feg s we@e 3 12 wrGEr 1 By subtracting 8 from x we get 12.

v) «x efgafgodfewsaae *T 8 yrug Jur J By adding 5 to one third of x we get 8

(vi) «x fegaasesd -3 e J1 By adding X to 4 we get -3.

(vii) yeniafege T 3 2yruz JeT 1By adding 6 to halfof y we get 2.

TWS-04 i
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BN - 3 S ITBH -
ISt awe g 11 €t Quwara we 578 fim1 / Match the following,

ST&H -1/ column 1

(1) x+5=9
(i)  x-7=4
X N
(111) B -5
(iv)  5x=30

(V) yEHBH3y=5&igmeaq
The value of'y, which satisfy 3y=5

" .1 .
(i) ﬂ'p=2,31'§(1-3p)€'r)_-|'8'

1
It p=2, then. the value of 5(1 -3p)

4. WAI3ITYE O< UH §9THT I I7 IS fBfrdt er i@ 891
If both sides of the weighing scale are equal then find the value of the following.

. 00 id o
(i) OO0, : 0 |
feg dagaergd -
Weight of a pentagon =
(iii)
Qe F;] ,
1
53, B
1
feg gag M3 € mrfeg er g -

Weight of a circle and two rectangle=

d'8H - 11/ Column II

-5
@@ 3

5
(b) 3
() 4 i
@ 6 l
€ 11
®  —60

(ii) oéo ‘.'ﬂ.

feggagerag -

Weight of one cricle =

LT ¥
I
r"!
&tﬂ) LQO Q.
I
fe'g gau M3 AMgH er 99 -

Weight of a circle and a rhombus=

. 7TWS-04
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WORKSHEET - 5 et w3 d . EC)
(Lines And Angles) o _
1. Wﬁmﬁijﬁs’?@mé ufge™= &9 Identify the line, ray & line i

segment from the follwing.

(1) > (i) (iii) <

<

2. Wﬁ?fﬁ?ﬁ*%ﬁ??#h@fﬂwf&ﬁIWrite the name of angles & vertices

A . P M
. M
A R
B C T . N .

3. Totfe3foset o9 fole e, e, wita e w3 frsdam 3= ot irre 31

. Identify right angle, obtuse angle, reflex angle & acute angle from the following figure.

) \ | (n)\”} i/ (v L‘

4. 7o fou gt fe9 fale de, mide, mifwd g, foedan e, fies &= w3 yas &< <t
ufggr= @d|/ Identify acute angle, right angle, abtuse angle, reflex angle, zero angle and
complete angle from the follwing anlrles
40°, 130°, 90°, 240°, 0°, 360° |

5. wfe?h?a§ywaa3+fafeuyaa&€+?ﬁar g A
Complete the figure to make a pair of complementary angle.

6. Jofedfa3ud yorad 3t fa few fuga aet er g g A
Complete the figure to make a pair of supplementary angle.

v

7. J&tfezfage fe9 L1 w3 £2 89— d< 95 Af 541| T8 |
In the figure given below, Check whether Z1 and £ 2 are adjacent angle or not, Give
reason.

wSm T e

8. dJoffe3 fa3er few aul vz &t ufgura ad1/Identify the lincar pair from follwing figures.

(i)l i (i1) /C (iti) / (iv)

TWS-05
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9. JotfeIfegetfey L1n3 1o frss mowy e g% w1t w9t

Check that Z1 and Z2are vertically opposite angles or not?

10. Je fa %

11. ﬁ%ﬁfﬁ%x?%@&?l/ﬁndtbevalue of x.

. 70° X o
(i) (W)

— 5

12. f?%fq%afe%é?énéufsﬁﬁaalumﬁn@nmﬁwm

Find the relation between angles if /|| m and n is transversal.

() L1 M3 £2 oo, (i) £6 M3 £8 ...
(i) £3MI L4 ... (iv) ZIM3 L5,
(V) £4M3 £5 ... (Vi) Z2MF /8 o

13. f§/f@Q 1|m3, n aetyramg Z1=70° T g7t g ugT 4|

If1][ m,nis transversal line and Z1=70° find the other angles.

ga m

TWS-05
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WORKSHEET -6 3@ 3 G I Mg A=t

(The Triangles And Its Properties)
A ABC I grarat I (FA I dT) ¥ = f&H | Name the six elements of A ABC

A

g (Sides) :
B c d< (Angles):
fay / Write :
(i) APOR ¥ fdg Q St AoHY F7T _ F1In APOR opposite side of Qs

(ii) ALMN T fUg LM T AGHY IS J1In A LMN angle oppositeto LM is
Jo fe gt fagwt evgw=’ wJ F=t & WUg 3 TIINade aa|
Classify the figure on the basis of angles and sides.

Pt L

W

APOR feg ga QR ET WU fig DI

d9g QD =3I I DR=_____ TSI

PM fea yippfea i

In APQR , D is the mid point of QR L\ :
If QD=3cm, then DR= PMisa______,PDisa

mﬂemmwmmgmmwe'ﬂaewwm
fEHB_TE'E‘TEHE'HUE’UHA STHB UITad| An exterior angle of A s equal to sumof two

opposite interior angles, usce it to find the value of x.

(11) 3

TWS-06
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6. “h‘gméh”reaf;é?wﬁa 180°Jer31” fen gre ot =95 q90 53 THEUITFF
Using the property that, The sum of interior angles of triangle is always 180°, find the value of
X.
Ay
O f 307 Q
(1) (ii)
B ‘ C
I8
7.

‘mégm@qﬁwméﬂmézmﬁéml’fmﬁeﬁa@
U3Taqd| Using the property 'in isosceles tringle, the o
find the value of x.

- 100°
i) (i)
X 400 b
(<3 - T

JEXTHE
Pposite angle of equal sides as equal’,

v

(
J

—_
8.  Ufewdion gre € 293 q9% I8 x T HB UST AT/ Use Pythagoras rule to find x.

(i) 2 (i) .
w7 A’n

9.  ataetwfadt fggw fge d1/1s any such triangle possible?
(i) fARE € de miEde 3= 7/ Whose two angl
(ii) fﬂﬂ‘é’@é?f?f@???&'ﬁ&'? / Whose two

es are right angle )

angles are acute, )
(iii) fARe 35 aE 60° €T ? / Whose all angles are of measure 60° ()
(iv) e f3% a& 60° 3wz 3 7/ When all angles are less than 60° )
10.  AA &S a3 1/ Match the following,

(i) FH=T:6AM, 7R, 8 A (a) mifaar a1 Fg9% / An obruse triangle.
(i) FA=t: 9 R, 10 AM, 9 My (b)Y Mg+ g7/ An equilateral wriangle.
(iii)  FAT=t: 8 M1, 8 M, 8 A (©) ot 35t Fagvr/ Sealene riangle,

(iv) & :35° 55° 900 A -8-g9t fggm/ An isosceles triangle.
(v)  &Z:100°,55° 25 (¢) ﬁ'i@??’di!‘f?\-_:i'ﬂ /Anacute angled triangle.
(vi) & :30° 70°, 80° (N aet fggw/ Rigth angled triangle,

TWS-06
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WORKSHEET -7  f3gw" &t Aodemmsr I A=

Mo

w

5.
(1)

(i1)

(111)

(Congruence Of Triangles)

HE9 € JYHF RIHIIAN U& 3T Gust St H9THY JEHT TS|
Iftwo line segment are congurent then their are equal.
AT E S T ¥9™H J< 3t BT AIEARH 9% U5
If the of two angles are equal, then they are congruent

AIEIHHST € {9 T1/ The sign of congruence is
H&d ADEF = ABCA J< 3t ABCA ¥ §ust gmart 3 fstt s Io fafit & Farg I
If ADEF = ABCA then write corresponding parts of ABCA .
() /E=  ()EF=__ Gi) £F=_ @) DF=__
Y 31 §F 39— (Fill in the blanks)

Trangles of same and are congruent.

9o f3gw et {35 mé* :”E‘.fzm

Each triangles has three

AIggA f3g7 A =A

Congruent triangles A =A

H912 RILGATANH d& : / Corresponding equal angles. /{Z@\(P\ m
(i) (___

(111) (iv)

HI1Z AGHAAH 3=/ Corresponding equal sides. '

(i) iy (ii1) (iv)

fora nrfaStot fT RAEAINST HUEE O Y& a9 3¢ § 99 § faga gu fev fau

In following figure using congruence rule, write your answer in symbolic form,

WANVARVANY

Ex:-  AABC=ARIY (by SAS rule) AABC=A (by )
A y | / 1 A
WANVARWANY,
B L H K L I
AABC=A by____ ) AJKL=A {by )

TWS-07
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9.

IR AABC = A ABD wanar §| Jo fut fee yrat ras 94|

If we are to show A ABC = A ABD then fill the following blanks. 2
Udr (Steps) d1d< (Reason)
() BD=__ (I3 3 AH)
(i) <ZABD=ZABC ( ) LN\
(i)  AB= 4B ( )
(v) AABD=AABC ( | FEEATIT f5W #EATd)
) B
fo'gafew 4B »3 CD fEagn & mEd A3 qae U5
In the figure AB and CD bisect each other. | C
A AOC w3 ABOD f&% , | 5~#+—Ip
UST (Steps) | a9 (Reason)
G AO=___ ( CD,ABEMHETTRI AT
(i) CO=OB ( ) *
(iiiy <ZAOC=/ZBOD ( )
(ivy AAOC=z=A ( AIEIMH3T fE0H MEH™)

At fsTs @@ 1 (Match the following)

(i) () ASA FIHIAHIT
a 1 A (b) RHS Ra@mHaT
(iii) | (¢c) SSS HIHEMHIT

(iv) "AV (d) SAS

¥

7. |"
D
TWS-07
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WORKSHEET -8 It & 3B6T M A3ar

10.

(Comparing Quantities)
5o fafimit & »iaUrg U3t A |/ Find the ratio of following numbers.

(i) 40 M3 56= (if) 32 M3 48 =

(iii) 10 far . w3 50 fat. = (1v)52FD{71{3'13HH=

5 fafit & migus 3T a9 1/ Find the ratio of following :

(i) 3 far ¥, &7 300 Hied &8 = (ii) 80 I 7 8 fa M. &8 =
(111)6)-ﬁ23€715m{?§1’5'— (iv) 3 W& €T 4 A8 &8 =

Jo fsymaurst e I MIUI g79 |/ Write two equivalent ratio of following ratios.
()2:3=_ (i) 5:6= __ (111)7 9=

I fea gyt & EBWH'JI / Compare the following ratios.(>, =

G 5:6___4:7 G) 9:10 1l 7 (iii) 4:5__ 5:3

Sgrarg graT B MEUTS M3 YSTHI UST 31/ Find the ratio & percentage of shaded ratios.

0 [ | @l | . D)

I fadt fast & ySma fu aes 1/ Convcrt following fractions into percentage.

W %= (u)- - (i) Y5 =
fe gt EITE"iW ) U BRI ES ﬁé—tr s | / Convert given of decimals to percentage.
(i) 0.75 (i) 3.2 (ii1) 0.02

fg'g o yItwat § emie= fET e 1/ Convert following percentage into decimals.

(i) 25% (i1) 150% (iii) 0.09%

fo'g o yInat & fiwt fee wed w3 €30 § mow gu fee fat

convert given percentage into fractions and write the answer in the simplest form.

(1) 90% (1) 125% (i) 250%
WWW,WWWWQHT fe'er adt 31 vag Gt fL 50% R 3 20% AT &
It wgt o Y3 fasT J 7 Sohan has a basket full of apples, oranges and mangoes. If there
are 50% mangoes and 20% oranges then find the % of mangoes?

-~
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11. ug™& (Find): (i) 200 ¥ 15% (15% of200)  (ii)1500 &7 20% (20% of 1500)
12. feaq ra® 9 a5 250 fefenmant a1 fAn feT 40w A gt S 71 Hfawt €t

fare3t ugT A3 lIn a school there are 250 students. Out of which 40% are girls. Find the
number of boys.

13. 259319 Fef feT 13 yarg a&| Aat 351G et &1 USHI U3T 41 13 out of 25 radio sets
are defective. Find the percentage of non-defective radios.

14,  JUT 10000, 7% ATBTET €9 &8 AT a1 A U6, fed As amie faaT fenm yrug g<ar?
Rs. 10,000 are deposited at 7% per annum, find the interest after one year.

15.  JUE 6050, 6.5% ASTT ©9 &8 QUd BT AT U, 3 AST aone fdaT Araras fenmm &
IR Rs, 6050 are borrowed at 6,5% per annum, find the simple interest after 3 years.

7WS-08
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\_WORKSHEET - 9 ufaner Afiprat

™I Agat

(Rational Numbers)

ETB‘ fetr fe5 fag=t Ufeaa Afunm & 7 /Which of the following is a natural number?
(1) 4 (1) o (i) -1 (iv) =
a'afa‘ftmr (€9 fovar uao i st 5 ¢ Which of the following is not a whole number
(o (i) 4 (ii) 10 (iv) -4
a; few 9" fort s A wt 3 2 / Which of the following is not an integer 2
i o (i) -1 (i) 1 (iv) 337‘
Y8 &= 391/ Fill in the blanks, |
| i:D:}i_i’- —4 D 16 D
0 77 33 ﬂ_[ (ii) 7=TZE=—5‘

5 35 ettt fe T fast ufones Afen =3t & 2/ Which of the following is not a rational
number? (1) 7 (i1) 7 (i) —1 - (W) 57
-35

. VP -35
6. 37 & fiordt gu f<S f%1 / Write 3 instand

ard form.

7. (i)-3m3 -2 fEg faatmt AYds Afimret 987 How many integers are there between -3 and -2
(i) 33 4 f&9 fastt Aiygs Afimret g5 7 How many integers are there between 3 and 4

8. faaaT v @37 I3 faogrrg ger d ?/Which number is greater and which is smaller?

&

(i 0o 5 0 R T
-4 _ . oo —_ -4
9, N T H3T3HA §%e €F |/ Find additive inverse of El
10. Y& UITadl/Find the value
- =i § y ;X(;}]_ i Lx3-
W3 3 — W6\ s ) " (i gx¢

- o: |
1L TgEfigp S QFa | bl A gdnd g QF fig k9 + kol gt sfraserd
TS g P 3 O3 QT RIT g5 fdat gdt Inrager 37

4 | . . .
Rahul covers a distance of = k.m from P to Q and 3 k.m from Q to R. Find the total distance

3
covered by Rahul. 0 Sol
:%/\m/Y

7WS-09

Scanned by CamScanner



o WA c——— L

2 #ﬁ%§@@mwmm@ww8@9ﬂww%?m€%wéw?

l Find the product of 3 and its multiplicative inverse.
l 13. W%WméMAiB,B?C,C?Dn@D?AaﬂmaaE’TU,?ﬁ
. a 5 a
' a3 I fqat ig At e AB=-7§fa.)ﬁ.m3 BC=7 fa Mt. g1 5 g
Anita walk around a rectangular park fromAto B,Bto C,CtoDand D to 3
' L 7 5 2 kom
A. Find the total walk done by Anita if AB = 3 and BC = 2 4
A _73_km B
14, -4 TTEIINE §Bedt I 7/ What is additive inverse of -4
5 -4-3-2-1 0 1 2 3 4 5 6
15. I fafprt @ greava €52 f58 1/ Find the multiplicative inverse of the following.
. —13 . 5 6
O i 3 i) 3
16. TSI/ Solve.
. =1 (—2) . =69 ~7 (-2)
I N L
(1) 12 13 (11) 5 11 (lll) 17 51
17. <ue w3 wee g f&T f&d 1/ Write in ascending and descending order.
. 341 iy 2724 s 3734
(l) 5’5’5 (“) 39953 (111) 752,7
18. fag=v <379 7/ Which is greater?
2 4 -3 2 -4 16
. 32 38 . =Bl . & e D
19. Y& U3r&d|/Find the value.
2 -3 3 L—4)
i —4)+— i —=2 ) —s|—
B (443 (i) i) 37\
TWS-09
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WORKSHEE -10 ydfara Jur arfes ™I A
(Practical Geometry)
L I fmtwt et & 3yT 45 927G 1/ Draw a line segment of the following lengths.
(i) 5.5°A4 (ii) 6 A

2. ffFIwds MN =48 aHEag,fen 3
5 Ry €t gt 3 Afes fea fig 3 few
FHT34 34T 276 |/ Draw a line segment
MN =4.8 and draw a parallel line from a

point which is at distance of 5 cm from

this line.

3. feg3urds vZ =40 M=, fen
Guq Afgs o' fig T g qur ge9|
Draw a line segement YZ =4.0cm, draw

a perpendicular from a point situated on YZ.

4. yaTg et ATTE3T 378 < 5379 |/ Draw the angle with the help of compass.
(i) 60° (ii)45° (111) 30°

5. g Wua &t AufeaT 578 dE 527G 1/Draw the angle with the help of protractor.
(1) 70° (11) 100° (111) 50°

TWS-10
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10.

fes fagw <t auar &3 faw dhwrt
FHRT 6 M, 4 AU M 5 AN 75|
Construct a triangle whose sides are

6cm, 4cm and Scm,

AABC <t3usT a3 fan fe'g
AB=5 M, AC=3 " ™3
£ BAC =90° 31/ Construct
atriangle ABC in which 4B =5 cm,
AC =3cmand £ZBAC =90°

feg magnt fagw &t gearas

frm & 993 s gar &t St _
4 RH 32 3 feast @ fegamasr

& 90° ¥ I | Construct an isosceles

triangle where equal sides are each

4 cm and the angle between them is 90°

AABC & guaT a9 fan fes
LA=60°2LB=30°mF

AB =58 A{ 321/ Draw a

AABC inwhich £ A=60°,£B =30°
and AB=5.8¢cm,

ADEF € 3957 a3, 7ag EF =4.2 Ry,
ZE=110° "3 £F =30° 321/ Draw a
ADEF inwhich EF =4.2 cm, ZE =110°
and ZF =30°

.
_
&

- — R T e

e vy 0 T A T
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WORKSHEET - 11 ufgHru M3 HIIeH I
(Perimeter And Area)

Wm?mwaﬁl / Find the area of parallelogram.

(il

-

Area =

(iv)

Area = Area =

2. fggAery39es U dd| / Find thearca triangle.

13em C

TWS-1t
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3. SadTHITERSUITTI/ Find the arca of circle.

(iii)
"Iy hwm:r = My feomm =
Radius = Radius = Radius =
YR = YIRS = RECCE
Area = Area = Area =
4. H39 f&41 Write the formula.
oSt & &T (Name of figure)  ufgHmy / dlaT (Perimeter) Y39eS (Area)
(i) ez (Rectangle)
(1)  <ddT (Square)
(i) AHT3T IJIFH (Parallelogrma)
(iv)  f3a# (Triangle)
(v) 9dd (Circle)
5. AHT3d 93dgH €T 43deB U™ a1/ % wOrg =
Find the area of the parallelogram. Base = -
P MEATGT figedy =
Corresponding Height =
U39S =
$5cn Area =
6. f3gaeruzT_B U3 T - _
Find the area of triangle Base =
WA fiygdy =
! e Corresponding Height =
: UI9eH =
Ll Area =

Kem

7. gfenfaa gvarer ig9es Bt st nes 931

Fill in the blanks to find area of the shaded region.
(i)  IAFIHT BT UITH (Area of rouds)

= -+ S

TWS-11
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WORKSHEET - 12

1.

48
weHEIE fenmd I IS
(Algebraic Expressions)
W@%Wﬁ@Wﬁﬁm?ﬁﬁﬁl Find the terms whic
w+d, 13-y8,13-557, Ap’q-3pq’ +5
3= i et fo G ue 89 fros »e &dt 761 Find the terms which are not constant.

h are not constant.

3 1
x=3, 1+x+x, —4x+5=x+—, pg+5
1773 Pq
%ﬁ@m&%@awuﬁWf@%xﬁék&Wﬁxwmfgm
Find the terms containing x in it and then find co-efficient of x.

() y'x+y (i) 13y* - 8yx

(iii) x+y+2 (V) 5+z+2zx

= 525 feirrart g Qo uR vere g €9 07 9 3 feq fegt f&9 )’ eraeia Byl
Find the terms containing y* in it and then find co-efficient of *

i 8-x’ (i) 5y*+7x

(iii) 2x°y- 15xp° + 7y (iv)
%WW%%@@WMF&@

nt of the terms containing variables in following experssions.

T+ xy2

Write the numerical co-cfficie

(i) ~Sxy—-4 (i) 18-y’ (iii) 4pg-5p

(iv) 4x-3y v) 2z-y (vi) 7x* -y
.4 o X . .

(vii) ¥~ 5 (viii) =~ +5 (X)) yt S

s 3 feoimat & fe ueh, & et 3 fim uet T fEe )

Distribute the following in monomial, binomial and trinomial.

G) 4y-Tz Q) )7 (i) x+y—xy
(iv) 70 (v) ab-a-b (vi) 7S5t
(vii)  Txy (viii) 22 +z
s fofamit 8 Mo uet @t ugTe 31/ Identify like terms in the following.
_5 ‘
(i) 1,100 (i) 7% e (ili)  4x%, 3x
C(v)  -12xz, 4x*z? (v) 4m’p, 4mp’ (vi) l4xy,42yx

TWS-12
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11,

12

13.

S e .

S gt s 5, i, i it e bt e i e 72, e
foia yus &31/ Get the algebraic expressins in the following cases using variables, constants
and arithmetic operations.

(i) "fenr y i€ - § weB=T1/ Subtract z from y

(i) i x fe9 y § A=aT1/ Add y in x.

(iii) e - © f9791E fES° v § we@er1/ Subtract x from thrice of z.

(iv) Hfe™ x W3 y & 7= 91/ Half of sum of x and y.

v) Hftmir z @7 € f397et 1/ Two third of z,
HIFU3TIJ 1/ Find the sum.

(i) 2a,-3a (i) 6x, 11x
(iii) 3mn, —Smn, —8mn -~ (iv) Sm=Tn,3n—4m+2,2m-5n+6
Weg : / Subtract
(i) —6xy fe9 3xy (i) 7z* fe¥ -87°
3xy from —6xy -8z from 7z°
(iii) 5x—10 f&9 9x+10 (iv) 4m’ —4n+8 &5 2m* —6n—-9

9x+10 from 5x-10 2m* —6n-9 from 4m* —4n+8

35 oy feimat € We x =2 € e u3arad |/ Find the value of following expression for
x =2 (i) x+4 (i) 2x+5 (i) 4x -3

Had m=-3, 3t T5 it s U3Tad |1/ If m = -3, then find the value of the following.

. 2m
(i) m-5 (i1) 3m+5 (ili) 9-5m (iv) T—“

-

Had =2 F b=-47< 3" I& fafunt T WEUSTETI/If =2 and h=-4 then find the
value of the following, (1) 2a+b (i) Sa-b

TWS-12
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8]

(Exponents And Powers)
%/ Identifly the base and the powers.
maa (Base) WS wd (Power)

»ag (Base) w3 n{a' (Power)
(a) 10* (©)9 L e
(b) 7° da®___— ——
HB'U‘:‘:’THEI/ Find the value.
(0 10 © 5

@ 10°

S fafipnt & W3 e gU f=g fsd |/ Write in exponential form.
@ 121=11x11= (b) 64=dxdxd=
(c) Ag=2x2xa= (d) 27h=3x3x3xb=

" (>, < =) fag Barg |/ Make with right sign (<,
(a) 3 15 (b) 23[:]32 C) 10000[:]10 (d) 7‘[] 5

Uafgftﬂﬂ’ f'e%faaa*mmh 2/ Which of following is right.
@ 3¥>2 b) 4=2° (c) 3=9 d 2°>5

frmres g1/ Match the f ollowing.

(@) a"xd a™
(b) a'+a (ab)"
© @
(d) a” xb” 1

() a"=+b" m-n

6 o (%)

(1°4+2°43°) @T )& J2ar|/ What is the value of (1°+2°+3°)

(a O (by 1 (c) 3 (d 6
= x* ggrEg J=ar |/ ¥ + x* will be equal to

(@ x* (b) X" (¢) ' A"

b - = P
[(3)] WU‘@'&FI/[B) ] will be equal to
@ 3 (b) 3" () 3" d 3

7WS-13
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10.

11

12.

13.

14.

15.

16.

17.

5 fafnt e 8 U3 a3 1/ Find the value of the following.

@) (-1)' = (b) (~1)" = (c) 5°=

(x5 +_1'5) HJ™H9 g<ar| (.\'5 +y5) will be equal to

@ (x+y) ®) (x= ) (©) (x+) (d) (x+y)"
2423420420 =

@ s (b) 9n () 281 (d 216
2°=8' J2 I kT WBUITTI /2° = 8" them find the value of k

@ 3 (b) 2 (c) 1 (d) 4

AT 12345 2 it gU T2 - / Write 12345 in standard form.

(@) 123.45x10' (b) 1234.5x10> () 1.2345x10° (d) 1.2345x10*

340900000 =3.409x%x10°

(@5 (b) 8 (c)6 (d)7
12 &9 € fifHTat U =AM / The standard form of 12 crore will be

(@) 12x107 (®) 12x10° (¢) 1.2x10° (d) 1.2x10’
AI® &d Solve.
. 27X26- 8. ~2
O Tt sl
K
(ii) %g—x3’ Sol.
L 3% 9% %30
(111) 272 x3° Sol.
v ) 2 5
(iv) i"%z"x_ Sol.
TWS-13
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WORKSHEET - 14
1.

W@ﬁh’?ﬁ*é’fﬂ){f@éﬂ*ﬁ*?ﬁﬂ@l

Draw the line of symmetry of the following figures.

(i), (ii)M (iii) A (iv)ﬁ

fog T g ot faahort AT Furet gt a6 w3 fag=n 7

How many line of symmetry are there in a line segment and which is that?
S A

myegr f3gw &t M3t aur<T €HI/

Draw the line of symmetry of the isosceles triangle.

@mmﬂﬁﬁnﬁs’fwwﬁr@w@aﬁr X
St far=at @7 | Draw line of symmetry of the equilateral

triangle and also find number of such lines. v 7

fo' gt RHigT 9g99H f RHiEt dur=t EaRTd |

Show the line of symmetry of the parallelogram

fa'gt nrfeg &t mifiat qur=t eamg |

Show the line symmetry of the rectangle. ‘

gt mez9gw ot mfiat auret eam |

Show the line of symmetry of the rhombus.

fe'gt =gar et mifist quret Tamg

Show the line of symmetry of the square.

fegt uar <t mifiist gu=t wem)

Show the line of symmetry of the kite.

Scanned by CamScanner
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10.

11,

12.

13.

14.

15,

16.

17.

fea milme o faawht mifidt duret Jert a7

How many lines of symmetry does a regular pentagon has?.

fea gag & faahit anfuat uret gt a7

How many lines of symmetry does a circle has?

MY A, D 3 E o fastt mifHat syt geimt 95?

How many lines of symmetry do A, D and E have?

myd H,U, V 3 X & faamit it auret g8t 967
How many lines of symmetry do H, U, V and X have?

»yg S 3 N Tt faast mifuat Juret J&mt 982

How many lines of symmetry do S and N have?

Jo o3 fa'gat feg g9a €1, 7 mifwst furet o, Buat &t ufgere 991

Identify the lincs of symmetry of the following figures, if there is any.

75 fo3 forget & WHe mifigt eva@d €R 1/ Find the order of the rotational symmetry.

(a) ’\D (b)>< () A JM)Q |

I f3 margt & unte mifirdt § 7 &dt, F T 37 Ui mnfiat e e fed

Find whether there is rotational symmetry of the following, if yes then write its order.

(a) AT (Square) (b) e (Rectangle)

(¢) A93dgH (Rhombus) (d) gt f399 (Equilateral Triangle)

fert foga & Gn e awg @ e 60° v g& Gugwre 3 §unmifsa nfast gar feurl
foar | fer faga @ sot miny T faus et &6t @ uifagr T RaeTJ1 By rotating 60° from

the centre a figure reaches its origional position. At what other angles will this happen for the

() (b)

figure?

TWS-14
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WORKSHEET - 15 3w fegat er fg 39 - AT RIS
(Visualising Solid Shapes)
1. waat o 5™ &8 &S a9 1/ Match the figures with their names.
—_——
(1) w2 (Cuboid) ;
R (ii) fird39 (Cylinder)
(iif) W (Cube)
(iv) JI®T (Sphere) &‘
(v) fugria (Pyramid) '
;a
!,
(vi) HJ (Cone)

2 Totfed foget @ faug, e w3 faarfont & fareat R |
Write the number of vertices, faces and edges of the following figures.

TWS-15
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(1) (i1) _ (iii)

3. JotfesfanasIgituc s raed?

From which of the following net you can make a cube.

P

Q (ii) (iif)

4. T8 S AU SR &% B 1/ Match the nets to the figures.

i
3%
=
N
|
!

(a) ' (1

0

(b) (i1)

-

=
(c) é (111) O O

A O
@ i V
, \

5. () AS®afgd @ fas g de s ?
How many dimensions are there in a plane figure?
(i) BAnrfgIh e fad urg e a5 ?
How many dimensions are there in a solid figure?
6. (i) m3®nrfa@t dt Gergast feGl
Give examples of plane figures.
(i) SHwfeEmt et Geruaat fe@

Give examples of solid figurcs.
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